Bona Edge AM0003196 Edge Housing

= P
!
e I
Qor———— ;
-

(_.




1.00.

1.01.

1.02.

1.03.

1.04.

1.07.

1.08.

1.09.

1.11.

1.14.

1.15.

1.16.

1.17.

1.19.

1.20.

1.21.

Bona Edge AM0003196 Edge Housing

AS0990717

AS0958105

AS0945563

AS0231056

AS0927044

AS0231014

AS0965004

AS0951415

AS0953324

AS0957821

AS0O231555

AS0232712.3

AS0232713

AS0929086

AS0928031

AS0960090

Box spanner NV17

Screw M3,5x10 Sheet-track
Clips WHA FZB 19-24

Side prot. cover black BE'05
O-ring 44,2x3

Ventilator compl.

Washer TRSB 6,4X22X4 fzb
Screw M6S M6x14H fzb
Screw MF6S M5X55

Screw Torx MRT M6x10 T30 fzb
Front cover with isolation cpl
Motor bracket BE '08 gray
Cover plate to ventilator BE
Cover plug 16/13-8 black
Rubber string dia 3 mm L=200

Nut ML6M M16 fzb



